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|
Anode i Screen
Valve |
v mA V| mA
86 0-39
Vi DK96 Oscillator 75 | 012
26 1-61 ,
V2 DF% .| 86 15 " | 68 | 0:56
'3 " DAFYG ~ 36 0063 | 35 | 00
V4 DL ... 8 |52 | 86|10
MR1 RMO .. | 116* —_— = -
MRZ FSW1392A 671 — | — | —

*A.C. reading when operating from 230V muins,
using 220-230V tap; ** cathode > voltage 130V, .

tA.C. reading, anode to anode, when operating
from 230V mains; “‘ cathode > voltage 2.6V,

Capacitors 5 (éég OO?)(I)“%“ (gi O Other Components*
c1 60pF c1 20014 3 )

2 SopF 1 27 Caopp 61 | u 985 €1
.03 523pF F3 028 40uF G4 | 15 -~ 10.6 &
C4 100pF D3 029 2,500uF B2 | Ia 0.6 o1
C5 0-014F D3 €30 2,500uF B2 ! 15 2.8 o
c6 100pF 2 381 2,500uF B4 Ie e i
c7 100pF -C2 7 20 oo
cs 100pF D3 Resistors 18 £0 o
C9 523pF ¥F3 | R1 1MQ D3 19 106 Al
C10 30pF c1 R2 120kQ D3 Lio 10-6 Al
Cl1 575DF C2 R3 27KQ D3 i1 2.8 a4
Cl3  1oemr O3 R ko B

C13 195p 3 | )

C14 0-05uF F3 | Ré6 1MQ E. T1 {g 468_2} Al
€15 0-01zF: D3 | R7 2.2MQ F3

C16 0-01uF E3 | R8 500kQ G3 a 1050

C17 100pF Al | RO 10MQ G3 » 05

C18 100pF Al | R10 2.7MQ G3 T2 {0 08 D4
C19 100pF rs | R11 1IMQ G3 a4 3200

20 0-01uF F3 R12 2:2MQ G3 | .

€21 0-01uF G3 ” R13 353128 qu MR1 RMOt F4
c22 0-01uF 63 | R14 .

23 0-01,F 63 R15 ;300 R4 | MR2 FSWI392A1 F4
C24 100pF G4 ‘g R16t 54Q) F4 81-812 — - D3

Hi

*Approximate D.(. resistance in ohms.

TSenTérCel, '13-0Q) resistor+-1-5Q resistance wire (see  General
teg :

Intermediate frequency 470 kc/s.
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CIRCUIT ALIGNMENT

1.—Remove chassis from its carrying case.
Switch receiver to M.W. and turn gang to
minimum ‘capacitance.

2.—Connect output of signal generator to junc-
tion-of. o i8. in-a-

signal and adjust the cores of L10 (location
reference Al), L9 (F3), L4 (C2) and L3 (E3) for
maximum output.

3.—Repeat the adjustments in operation 2 until
no further improvement results.

4.—Check that with the gang at maximum
capacitance, the cursor coincides with the high
wavelength ends of the M.W. and L.W. scales.

5.—Disconnect the signal generator leads and
lay them close to the ferrite rod internal aerial.
Switch receiver to L.W. and tune it to ** Paris
.on the L.W. tuning scale.

6.—Feed in a 164 kc/s. (1,829m) signal and adjust

the core of L6 (D3) for maximum output. The
internal aerial coil L2 (A1) should be adjusted
for maximum output at this frequency by
sliding the end section of the coil (location
Al) along its ferrite rod.

7.—Tune receiver to ‘‘ Kalundborg” on L.W.
tuning scale, feed in a 245 kec/s (1,224m) signal
and adjust €12 (C1l) and €1 (location C1) for
maximum output.
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8.—Switch receiver to M.W., tune to 550m, feed
in a 5464 ke/s signal and adjust the core of
L5 -(C2) for maximum output. The internal
aerial ceil L1 (C1) should be adjusted for maxi-
mum output at this frequency by sliding it
along the ferrite rod. .

9.—Tune receiver to 200m, feed in & 1,500 ke/s
signal and adjust €10 (C1) and €2 (C1) for
maximum output. Repeat these adjustments,
and those in operation 8,  until no further
improvement results. - :

10.—Switch receiver to L.W. and repeat adjust-
ments in operations 6 and 7. ,

Modification.—In our sample model R16 con-
sisted of a 3.90 resistor connected in series with
a length of resistance wire measuring 1.5Q. In
some receivers this length of resistance wire
may be omitted. . )




